/DIIRB
*UXSD 5RINiDG = O3 6% /

/7  7\J

SRQLHG]LD3HN

7\J

YRIRIUDID
NA\PLQDIVINF]QD *DIHZV
N .DLJPLHU] * o)
3.6%/ /

7\6]

YRIRIUDIID
NU\PLQDIVI
\F]QD *Di
HZVNL
_DIJPLHI]

3.6%/
/

ZWRUHN

7\J

6\VIHP\ DIDUPRZH L NRQIURIL GRVICSX PJU
ZRINVHN "DPLDQ $% 03 .6%/

7\

,QIRUPDINND GIHGF]D Z JURPDG]HQLX
PDIHUDi:X GRZRGRZHJIR PJU QT - RZDIFJ\N
ODUFLQ $% 03 .6% / -

HURGD

7\J

" JLDiDIQRGI JRSVRGDUF]D
Z JDNU XViXJ
GHIHNNZLVINFTQ\FK PJU
= DVIN $GUDQ $%

03 .6% / z

7\G]
= JLDiDIQRG
JRSVRGDUF
10 Z 1DNU
XViXJ
GHIHNINZLVI
\F]Q\FK P
JU ZDVIN
$GUDQ $%
-0
3.6%/

7\J

= 1D{DIQRG JRSVRGDUF]D
ZIDNU XViXJ
GHIHNINZLVINFTQ\FK PJU
= DVIN $GUDQ $ -
03 .6%/ &

7\J

3UJHGPLRI IDNXIIDINZQ\

GR Z\ERUX , GUKDE

OLFKDIVNL 5DIPXQG $%
03 .6% 7/ z

&KHPLD ZRNyi QDV

7\J

G\VIHP\ DIDUPRZH L NRQIURL. GRVICSX PJU = DZIGRZIF]
$QGUIHI $ 03 .6%/ [/

7\G]

6\VIHP\ DIDUPRZH L

NRQIURIL GRVICSX PJU

" DZIGRZIF] $QGUIHI $
03 .6%/ /

&]

/HNIRUDIN GZ

7\J
03 .6% 7/ z

*yZQ\ EXG\QHN $-" X0 = DV]\QJIRQD

SLCWHN

7\J

ORQURILQJ ZII\IQ\ PJU
%IDiDV GHEDVILDQ $
7N $
7\6] =:-O03 _.6%/

7\J

ORQURILQJ ZII\IQ\ PJU
%IDiDV GHEDVILDQ $
03 .6%/ [/

ZDW]IDN




*UXSD 5R]NEDG

/DURB
203 6%/

/7  7\J

7\6] 7\6]
= ORQURIQJ ORQURUIQJ
I ZI\IQ\ PJ ZI\NIQ\ PJ
O U %DV U %DV
b GHEDVIDQ GHEDVIDQ
$ -0 $ o]
3.6%/ 3.6%/
- /
ZDUWTVDIN
o
©




